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Roll No. .................................

NARAYAN TALENT SEARCH EXAMINATION, 2012-13

Direction :-

1. The question paper has six parts. All questions are to be attempted.

iz'u i= ds N% Hkkx gSA lHkh iz'u vfuok;Z gSaA

2. Four alternative answers are given for each question but only one answer is

correct. Identify and put a Darken for it on the answer sheet. No other mark is

acceptable.

izR;sd iz'u ds pkj fodYi fn;s x;s gSa ijUrq muesa ls dsoy ,d lgh gSA Bhd mÙkj pqudj
mÙkj iqfLrdk esa xksys dks xgjk djsaA vU; dksbZ fpUg u yxk;saA

3. Do not use lead pencil on the answer sheet. Darken with Bal Pen. Over writing

is not accepted.

iSafly dk iz;ksx mÙkj iqfLrdk ij u djsaA cky iSu ls xksys dks xgjk djsaA dkV dj fy[kk x;k

fpUg ekU; ugha gksxkA

MENTAL ABILITY

Q Direction : Choose the best alternative (lgh fodYi pqusa)

1 Doctor is related to patient in the same way as lawyer is related to............... ?  tSls MkDVj dk

lEcU/k ejht ls gS oSls gh odhy dk lEcU/k ---------- ls gS

a) customer b) Accused c) Magistrate d) Client

& xzkgd & nks"kh & U;k;/kh'k & eqofdy

2 Soap is related to wash in the same way as Broom is related to ............ ?  : tSls lkcqu dk

lEcU/k /kksus ls gS oSls gh >kMq dk lEcU/k-------------- ls gS

a) Clean b) Duot c) Sweep d) Floor

& lQkbZ & /kwy & lkojuk & Q'kZ

3 49: 81::100: ?

a) 64 b) 144 c) 169 d) 121

4 5:36::61: ?

a) 48 b) 49 c) 50 d) 56
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Direction : Choose the word which is least like the other words in the group.

og 'kCn pqfu;s tks lewg ds nwljs 'kCnksa ls vf/kd esy [kkrk gks \

5 a) January b) May c) June d) July

6 a) Lake b) River c) Pool d) Pond

&>hy &unh &rykc &NiM+

7 a) Physics b) Chemistry c) Biology d) Geography

HkkSfrd jlk;u foKku tho foKku Hk wxksy

Direction : Choose the number which is different from other in the group

8 a) 8 b) 28 c) 64 d) 125

9 a) 48 b) 36 c) 24 d) 59

10 a) 37 b) 45 c) 49 d) 65

11 If summer is coded as RUNNER, the code of WINTER  will be  : fdlh dwV Hkk"kk eas ;fn Summer

dks Runner fy[kk tk;s rks Winter dks fy[kk tk;sxk A

a) SUITER b) VIOUER c) WALKER d) SUFFER

12 iF BAT = 23, CAT=24, then RAT = ?

a) 25 b) 26 c) 39 d) 40

13 If NOIDA is written as 39658. How will INDIA be written ?  ;fn NOIDA dks 39658 fy[kk tk;s

rks INDIA dks fy[kk tk;sxk \

a) 36568 b) 63568 c) 63569 d) 65368

14 If x is the brother of the son of y's son. How x is related to Y ?  : ;fn x, y ds csVs dk HkkbZ gks rks

x dk y ls D;k lEcU/k gS \

a) son b) brother c) uncle d) grandson

csVk HkkbZ pkpk ikS=k
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15 Deepak is brother of Ravi, Reena is sister of Atul, Ravi is son of Renna. How is Deepak related

to Reena ?  nhid] jfo dk HkkbZ gS] jhuk vrqy dh cgu gS] jfo jhuk dh iq= gS] nhid dk jhuk ls

D;k fj'rk gS \

a) Son b) Brother c) Nephew d) Father

csVk HkkbZ Hkrhtk firk

Direction : Read the following information carefully and answer the questions

nh xbZ tkudkjh dks /;ku ls i<+ dj iz'u 16,17 ds mrj nksA

i. Gopal is shorter than Ashok but taller than Kunal.

xksiky v'kksd ls NksVk ijUrq dquky ls yEck gSA

ii. Navin is shorter than kunal

uohu dquky ls NksVk gS A

iii. Jayesh is taller than Navin

t;s'k uohu ls yEck gSA

iv. Ashok is taller than Jayesh

v'kksd t;s'k ls yEck gSA

16 Who among them is tallest  : mu lc eas ls lcls yEck dkSu gS \

a) Gopal b) Kunal c) Ashok d) Navin

xksiky dquky v'kksd uohu

17 Who among them is the shortest  : muesa lcls NksVk gS \

a) Navin b) Jayesh c) Kunal d) Gopal

uohu t;s'k dquky xksiky

Directions  (18-19) Arrange the given words as in 9 dictionary and find one that comes last.

fn;s x;s 'kCnksa dks 'kCnkdks"k ds :i eas O;ofLFkr dj vfUre 'kCn fy[kksA

18 a) Repeat b) Real c) Rest d) Reserve

19 a) Mother b) Monkey c) Master d) Matter

20 How many meaningful words can be formed by using any two letters of the word NOT ?

NOT 'kCn esa ls fdUgha nks v{kjksa dk iz;ksx dj fdrus vFkZiw.kZ 'kCn cu ldrs gSa\

a) 1 b) 2 c) 3 d) 4
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21 Which one word can not be formed by using the letter TRIBUNAL.

TRIBUNAL 'kCn dk iz;ksx dj dkSu lk ,d 'kCn ugha cuk;k tk ldrk \

a) TRIBLE b) URBAN c) BRAIN d) LATIN

22 How many numbers from 1 to 100 are these each of which is not only exactly divisible by 4

but also has 4 as 9 digits ?

1 ls 100 dh chp ,slh fdruh la[;k,sa gS tks dsoy 4 ls Hkkx gh ugha gksrh cfYd 4 ,d vad Hkh

ml la[;k eas vko';d gksA

a) 7 b) 10 c) 12 d) 8

23 If every second saturday and all sundays are holidays in a 30 days month begining on Satur-

day, then how many working days are there in that month.

30 fnu okys ekl eas tks 'kfuokj dks izkjEHk gksrk gS ;fn lHkh jfookj o izR;sd nwljk 'kfuokj Nqëh

dk fnu gks rks bl ekl eas dqy fdrus dk;Z fnol gSaA

a) 20 b) 21 c) 22 d) 23

24 If 20-10 means 200, 8÷4 means 12, 6x2 means 4, then :

;fn 20-10 dk vFkZ 200, 8÷4 dk vFkZ 12, 6x2 dk vFkZ 4 gks rks

a) 0 b) 20 c) 1090 d) 1900

25 Arrange the given words in 9 meaningful sequence and then choose the most appropriate

sequence from amongst the alternatives : ¼fn;s x, 'kCnksa dks ,d fuf'pr Øe eas bl izdkj fy[kks

dh ,d vFkZiw.kZ Øe cu lds½

1) District 2) Village 3) State 4) Town

a) 2,4,1,5,3 b) 2,1,4,5,3 c) 5,3,2,14 d) 2,5,3,4,1

26 If you write down all the numbers from 1 to 100, then how many times do you write 3 ? :

;fn vki 1 ls 100 rd fxurh fy[kksxs rks fdruh ckj 3 fy[kk tk;sxk\

a) 11 b) 18 c) 20 d) 21

Choose the best alternative as the answer (27, 28)

funsZ'k% mÙkj ds :i eas fcYdqy lgh fodYi pqfu;s (27, 28)

27 Atmosphere always has :  okrkoj.k eas lnSo gksrk gSA

a) Oxygen b) Air c) Germs d) Moisture

vkDlhtu gok ftok.k q ueh
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28 A hospital always has : ,d gLirky eas ges'kk gksrk gSA

a) Nurse b) Room c) Bed d) Doctor

ulZ dejk fcLrj MkDVj

Directions : Find the missing character :  yqIr vad Kkr djksA

29

a) 10

b) 12

c) 13

d) 15

30

a) 6

b) 7

c) 8

d) 9

Q.31, 32 Direction ; Find out the one that is correct in verification of the given statement. fn;s x,

dFku dh iqf"V ds fy, ,d lgh fodYi pqfu;sA

31 Sound travels................. Light : /ofu] izdk'k ls --------------- pyrh gSA

a) Slower than b) as slow as c) Faster than d) as fast as

ls /kheh bruh /kheh dh ls rst leku rsth ls

32 Which is an Explosive : dkSu lk foLQksVd gS \

a) RDX b) TNT c) Picric Acid d) All of the above

Q.33, 35 Direction ; In the following questions select the number from the given options for com-

pleting series. uhps fy[ks iz'uksa eas ls oks la[;k NkfV;ka tks fn;s x;s Øe Js.kh dks iqjk djsA

33 7776, 1296, 216, 36, 6 ?

a) 6 b) 0 c) 3 d) 1

34 98, 72, 14 ?

a) 8 b) 6 c) 4 d) 2

35 69, 55, 26, 13 ?

a) 3 b) 6 c) 13 d) 4

1

2

35

8

?

3 6 8

4 7 ?

5 8 4
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Q.36, 37 Direction ; Find the missing term from the given options. fn;s x, fodYiksa eas ls yqIr dM+h

Kkr djksA

36 Baby; Tata : : Lily : ?

a) Pool b) Rose c) Hand d) Down

37 Nation : Anitno :: Hungry : ?

a) Hnugry b) Unhgry c) Yrnguh d) Uhgnyr

38 How many rectangles are there in the fig. :

nh xbZ vkd`fr esa vk;rksa dh la[;k D;k gS \

a) 6 b) 7

c) 8 d) 9

39 What is once in TEA and twice in COFFEE but not in MILK ? : D;k gS tks pk; eas ,d ckj] dkQh

eas nks ckj rFkk nq/k eas ugha ik;k tkrk \

a) Sugar b) Flavour c) The letter E d) Water

phuh Lokn v{kj bZ ikuh

40 Direction : Choose a pair of words which have similar relationship : 'kCnksa dk ,d tksM+k pqus tks

fn;s okD; ls leku lEcU/k j[krk gksA

Taj Mahal : Agra

a) Amritsar : Golden Temple b) Red Fort : Delhi

c) Delhi : Qutab Minar d) New Delhi : India Gate



VII - 7

MATHS

41. Which of the following statements is/are false ?

fuEufyf[kr eas ls dkSu lk dFku vlR; gS \

1) Every irregular figure have no line of symmetry

  lHkh vleku vkd`fr;ksa dh dksbZ lefefr js[kk ugha gksrh A

2) Scalene triangles have no line of symmetry

  fo"keckgq f=Hkqtksa dh dksbZ lefefr js[kk ugha gksrh

3) If a shape has a line of symmetry then symmetry is called reflection symmetry

  ;fn fdlh vkd`fr eas js[kh; lefefr gS rks lefefr dks ijko`fr; lefefr dgrs gSa A

4) English alphabets X & H both have no line of symmetry.

  vaxszth o.kZ ekyk ds 'kCn X vkSj H eas dksbZ lefefr js[kk ugha gksrhA

5) Some figures have both rotational & reflection symmetry

  dqN vkd`fr;ksa eas ?kw.khZ; ,oe~ ijko`fre nksuksa lefefr;k¡ gksrh gSaA

a) Only (1) & (2) b) Only (2) & (3) c) only (1) & (v) d) only (4)

  dsoy 1 vkSj 2   ek= 2 vkSj 3   ek= 1 vkSj 5 dsoy 4

42. Which of the following is different by other three with respect to line of symmetry &

rotational symmetry.

js[kh; ,oa /kw.khZ; lefefr ds lkis{k eas dkSu ,d ckdh rhu ls vyx gS \

a) Scalene triangle b) Rectangle c) Square                 d)Equilateral triangle

fo"ke ckgq f=Hk qt vk;r oxZ leckgq f=Hk qt

43 Which of the following is/are not true ?

fuEu eas ls dkSu lk lR; ugha gS \

1) 40+70+80=(4+7+8)0 2) If 23+13=3x then x=3

3) 
11

13

11

13
3

0 3F
HG
I
KJ = FHG

I
KJ =

−x

then x 4) a4xb4 = (ab) 4+4

a) only 1 b) only 2 c) only 3 d) all (1) (2) (4)
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44. If l ---->m indicate that elements of column A matched with the elements of column B. Read

the column A & B & find which is not true.

;fn l---> m n'kkZrk gS fd LrEHk A ds vo;o LrEHk B ds vo;oksa ls feyku [kkrs gS rks crk,sa

fuEufyf[kr eas ls D;k lR; ugha gSA

Column A Column B

a) 8400 (1) 1

b)  (-1)126 (2) 
−4

9

c)  
a

b
F
HG
I
KJ

0

(3) 8.4x103

d) 30+40+50+60 (4) 1

e) 
−F
HG
I
KJ

−F
HG
I
KJ

2

3

3

2

5 3

(5) 4

a) (a) ----> (3) b) (c)----> 1,4 c) (d) ---->5 d) (e)---->2

45 For all non zero rationals x and all positive integers m &n which of the following is not

correct ?

lHkh 'kwU;sÙkj ifje; la[;kvksa x vkSj lHkh /ku iw.kkdksZaa m vkSj n ds fy, fuEufyf[kr eas ls D;k

lR; ugha gSA

a) if m=n then 
x

x

m

n
= 10

b) if m<n then 
x

x x

m

n n m
= −

1

c) if m>n then 
x

x
x

n

m
n m= +( )

d) If m0=1=n0 the x0+m0+n0=3

a) i & ii b) i & iv c) ii & iv d) None of these

  buesa ls dksbZ ugha

46.
3 10 5

6 5

5 5 2

5 7

x x
x

 The simplest form of the expression

O;atd 
3 10 5

6 5

5 5 2

5 7

x x
x

 dk ljyre~ :i gksxk \

a) 
3

5

2F
HG
I
KJ b) 

5

3

2F
HG
I
KJ c) 2 d) None of these

  buesa ls dksbZ ugha
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47 Which of the following is not defined

fuEufyf[kr eas ls fdldks ifjHkkf"kr ugha fd;k tk ldrk

a) 400÷0 b) 0÷400 c) 400÷2 d) None of these

  buesa ls dksbZ ugha

48 Which of the following have same sign (+ or -)

fuEufyf[kr eas ls fdlds fpUg ¼+ ;k -½ leku gksxsaA

i) Product of two integers of opposite sign.

nks foijhr fpUg okys iw.kkZdkasa dk xq.kuQy

ii) Product of two integers of same sign

nks leku fpUg okys iw.kkZdkasa dk xq.kuQy

iii) divident and divisor are of same sign.

leku fpUg okys Hkktd vkSj HkkT;ksa dk izfrQy

iv) Product of odd number of negative integers.

_.kkRed iw.kZadks dh fo"ke la[;kvksa dk xq.kuQy

a) i & ii b) ii, iii and iv c) ii & iv d) iii and iv

49. If 2500 ÷ 25 = 100 - then - 2500 ÷ -25 equals

;fn 2500 ÷ 25 = 100 rks - 2500 ÷ -25 ds leku gksxk \

a) 10 b) 100 c) -100 d) -10

50. Which of the following statements are not correct

fuEufyf[kr eas ls dkSu lk dFku lR; ugha gS \

a) The product of two proper fraction is always less then that are multiplied

nks le fHkUuksa dk xq.kuQy xq.kk dh xbZ fHkUuksa ls lnSo NksVk gksrk gSA

2) The product of two inproper fractions is always greater than that the individual fractions.

nks fo"ke fHkUuksa dk xq.kuQy lnSo nh xbZ O;fDrxr fHkUuksa ls cM+k gksrk gSA

3) The reciprocal of a fraction is obtained by inverting the numinator & denominator

va'k vkSj gj dks cnyus ls izkIr fHkUu nh xbZ fHkUu dk O;qRØe gksrh gSaaA

4) Two number are said to be reciprocal of each other if their product is 0.

nks la[;k,sa ,d nwljs dk O;qRØe dgyk,saxh ;fn mudk xq.kuQy 'kqU; gksA

a) 1 b) 2 c) 3 d) 4
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51. Which one is the larger amongs the fractions

fuEufyf[kr fHkUuksa eas ls dkSu lh fHkUu cM+h gS \

9

11

7

11

8

11

6

11
, , ,

a) 
8

11
b) 

7

11
c) 

9

11
d) 

6

11

52. A car covers 44km distance with 2
3

4
 litres of petrol, how many kilometer it run with 1 litre

of petrol.

,d dkj 2
3

4
 yhVj iSVªksy eas 44 fdeh dh nwjh r; djrh gS rks ,d yhVj iSVªksy eas fdrus fd-eh-

dh nwjh r; djsxh \

a) 16 b) 12 c) 8 d) None of these

53. Consider the months of the calender year 2012, which has 12 possible out comes which are

equally likely to be happened.

dysUMj o"kZ 2012 ds 12 ekgksa dks /;ku eas j[krs gq;s xyr ifj.kke dk p;u djsaA

a) Probability of selecting the February month is 
1

12

Qjojh ekg dss p;fur gksus dh izkf;drk 
1

12
 gS

b) The probability of the months whose number of days is prime number is 
2

3

mu ekg ftu ds fnuksa dh la[;k vHkkT; la[;k gS fd izkf;drk 
2

3
 gksxhA

c) The probability of the month in which number of days are even is 
1

3

le la[;k fnuksa okys ekg dh izkf;drk 
1

3
 gksxh

d) The probability of the month whose name start with letter of English alphabet J is 
1

6

mu ekg dh izkf;drk 
1

6
 gksxh ftudk uke vaxzsth o.kZekyk ds v{kj J ls vkjEHk gksrk gSA
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54. If the ages (in years) of 11 teachers of a school are 30, 29, 20, 28, 21, 27, 22, 26, 23, 25, 24

then which of the following is not true.

;fn fdlh fo|ky; ds 11 vkpk;ksZa dh vk;q ¼o"kkZsa eas½ 30, 29, 20, 28, 21, 27, 22, 26, 23, 25, 24

gSa rks fuEufyf[kr eas ls D;k lR; ugha gSa A

a) The age of the oldest teacher is 30 years & that of the youngest is 20 years.

lcls cM+s vkpk;Z dh vk;q 30 o"kZ gS vkSj lcls NksVs vkpk;Z dh vk;q 20 o"kZ gSA

b) Range of the ages of the teachers is 1 year less than the number of teachers.

vkpk;kZsa dh vk;q dk ifjlj] vkpk;kZsa dh la[;k ls 1 o"kZ de gS A

c) Median age of the teachers is equal to the mean age of the teacher

vkpk;ksZa dh vkSlr vk;q vkSj ek/;d vk;q leku gSA

d) The number of teachers who's ages are more than the mean age of the teacher are 4.

,sls vkpk;ksZa dh la[;k 4 gS ftudh vk;q vkSlr vk;q ls vf/kd gS

55. The mode of the numbers 1,4,4,1,3,1,4,2,1,7,9,1,4 is

mijksDr nh xbZ la[;kvksa dk cgqyd D;k gksxk \

a) 9 b) 1 c) 7 d) None of these

56. 3(1-5x) +4 (3+7x) = 41 The value of the variable x for the given equation

fn;s lehdj.k 3(1-5x) +4 (3+7x) = 41 ds fy, pj x dk eku gksxk \

a) 2 b) -2 c) 0 d) None of these

57. Let x be a number, the value of the number x when 11 subtracted from twice the number,

the result is 15.

ekuk x ,d la[;k gS] x dk eku D;k gksxkA ;fn la[;k ds nqxus eas ls 11 ?kVkus ij ifj.kke 15 izkIr

gksrk gSA

a) 3 b) 13 c) -13 d) -3

58. Consider the number pattern 11, 21, 31, 41 ............. then difference of 10th term & 8th

term.

la[;k izfr:i 11,21,31,41 ------------ dks /;ku eas j[krs gq, izfr:i ds 10osa vkSj 8osa inksa dk vUrj

gksxk \

a) 40 b) 30 c) 20 d) 10



VII - 12

59. Consider the expression 12m2-9m+5m-4m2-7m+10 & find which of the following is not true?

mijksDr dks ns[krs gq;s crkvks fd fuEufyf[kr eas dkSu lk dFku lR; ugha gS \

a) The simplest form of expression is 8m2-11m+10

O;atd dk ljyre~ :i 8m2-11m+10

b) The given expression is trinomial

fn;k x;k O;atd f=inh; gSA

c) The constant term & coefficients of m2, m are respectively 10, 8, -11.

vpj in vkSj inksa m2, m ds xq.kkad Øe'k% 10,8,-11 gSA

d) For m=1 the expression is not equal to the sum of the coefficient of m2 & m & constant

term.

60. The suplimentary angle of two third of right angle is ?

,d ledks.k ds 
2

3
 Hkkx dk lEiwjd dks.k gksxk \

a) Twice the one third of right angle ,d ledks.k ds ,d frgkbZ dk nqxuk

b) Four times the one third of right angle ledks.k ds ,d frgkbZ dk pkj xq.kk

c) Three half of a right angle ledks.k ds vk/ks dk rhu xq.kk

d) None of these bueas ls dksbZ ugha

61. Consider the triangle ABC then find which of the following is not correct ?

f=Hk qt ABC ds fy, fuEufyf[kr eas ls D;k lgh ugha gS \

a) If AB=BC=CA then ∆ ABC is an equilateral triangle and measure of each angle is 600.

;fn AB=BC=CA rks f=Hk qt leckgq f=Hk qt gksxk ftldk izR;sd dks.k 600 gSA

b) If ∠B=900,  ∠A=∠C=450, then triangle is called isosceles right angle.

;fn ∠B=900 vkSj  ∠A=∠C=450  rc f=Hk qt ledks.kh; lef}ckgq dgykrk gSSA

c) ∠A, ∠B, ∠C may be acute

f=Hk qt ds dks.k ∠A, ∠B, ∠C U;qu dks.k gks ldrs gSa A

d) Triangle ∆ ABC will be possible if all angles of the ∆ are less than 600 or all angles have their

measure greater than 600.

f=Hk qt ABC lEHko gksxk ;fn f=Hk qt ds izR;sd dks.k dh eki 600 ls de vFkok 600 ls vf/kd gksA
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62. Read the following statement and select the false one :

uhps fy[ks dFkuksa dks i<+dj xyr dFku dks pqusA

a) Two right angles be supplementary

nks ledks.k lEiwjd dks.k gksrs gSaA

b) If sum of two angles be 900 then they are called complemontary

;fn nks dks.kksa dk ;ksx 900 gksrk gS rc mUgsa dksVh iwjd dks.k dgrs gSa A

c) If two adjacent angles are supplementary, they form a linear pair.

;fn nks layXu dks.k laiwjd dks.k gSa rc os jSf[kd ;qXe cukrs gSaA

d) Two obtuse or two acute angles be supplementary, Also two acute angles or two obtuse

angles form a linear pair.

nks vf/kd dks.k ;k nks U;wu dks.k lEiwjd dks.k gks ldrs gSa ,oe~ nks ifjes; la[;kvksa ds chp vuUr

ifjes; la[;k,sa gksrh gSa tcfd nks iw.kZZadksa ds chp lhfer iw.kkZad gksrs gSaA

63. If triangle ∆ ABC is right angle at C and AC=5cm BC=12cm. then value of AB equals ?

;fn ∆ ABC dks.k C ij ledks.k gS vkSj AC=5cm BC=12cm rks AB dk eku gksxk

a) 169cm b) -13cm c) 13cm d) None of these

64. If Rs. 260 is to be divided amongs Raja, Ravi and Raju so that Raja gets 2 parts, Ravi gets 3

parts & Raju gets 5 parts. The respective % of their parts be ?

;fn 260 :i;ksa dks jktk] jfo vkSj jktw eas bl izdkj ckaVk tk, fd jktk ds 2 Hkkx] jfo dks rhu

Hkkx rFkk jktw dks 5 Hkkx feys rks muds Hkkxkas dk izfr'kr Øe'k% gksxk \

a) 30:20:50 b) 20:30:50 c) 50:30:20 d) None of these

65. The selling price of a toy car is Rs. 2197 if the profit made by shopkepper is 30% then cost

price of the toy car be ?

,d f[kykSuk dkj dk foØ; ewY; 2197 :i;s gS] dkj dk Ø; ewY; D;k gksxk\ ;fn nqdkunkj bl

ij 30 izfr'kr ykHk izkIr djrk gSA

a) Rs. 1609 b) Rs. 1960 c) Rs. 1690 d) None of these

66. Which of the following is not true ?

fuEufyf[kr eas ls D;k lR; ugha gS\

a) Between two rationals there exist infinite rationals although between two integers there

lies finit numbers of integers.

nks ifjes; la[;kvksa ds chp vuUr ifjes; la[;k,sa gksrh gSa tcfd nks iw.kkZadksa ds chp lhfer iw.kkZad

gksrs gSaA

b) If ∠B=900, ∠A=∠C=450 then triangle is called isosceles right angle
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;fn ∠B=900  vkSj ∠A=∠C=450  rc f=Hk qt ledks.kh; lef}ckgq dgykrk gSA

c) ∠A, ∠B, ∠C may be acute

f=Hk qt ds dks.k ∠A, ∠B, ∠C U;qu dks.k gks ldrs gSaA

d) Triangle ∆ABC will be possible if all angles of the ∆ are less than 600 or all angles have their

measure greater than 600.

f=Hk qt ABC lEHko gksxk ;fn f=Hk qt ds izR;sd dks.k dh eki 600 ls de vFkok 600 ls vf/kd gksA

67. For any two rationals x & y, which of these is correct ?

nks ifjes; la[;kvksa x vkSj y ds fy, D;k lR; gksxk \

1) x>y 2) x=y 3) x<y

a) Only 1 & 2 b) All 1, 2 &3 c) only 2 d) only 1 & 3

68. The difference between the greatest & the least number amongs the given fractions :

− − −5

9

1

9

7

9
, , ?

nh xbZ fHkUuksa 
− − −5

9

1

9

7

9
, , ?  eas ls lcls cM+h ,oa lcls NksVh fHkUuksa dk vUrj D;k gksxh \

a) 
−4

9
b) 

6

9
c) 

−6

9
d) 

4

9

69. Look the adjoining figure which shows two cencentric circles of radii 
10

π  and 
9

π  cm re-

spectively then mark the incorrect from the following.

layXu fp= eas nks ldsafnz;k o`r n'kZk;s x;s gSa ;fn mudh f=T;k,sa 
10

π  vkSj 
9

π  gSa rks fuEufyf[kr

eas ls vlR; dks fpfUgr djsaA

a) Area of the shaded region is 19cm2

Nk;kfdar Hkkx dk {ks=Qy 19 oxZ lseh gSA

b) Ratio of their circumference larger to smaller is

same as the ratio of their radii.

cM+s o`r ls NksVs o`r dh ifjf/k;ksa dk vuqikr mudh f=T;kvksa ds vuqikr ds leku gSaA

c) Ratio of their area's larger to smaller is same as the ratio of the square of their radii.

cM+s o`r ls NksVs o`r ds {ks=Qyksa dk vuqikr mudh f=T;kvksa ds oxksZa ds vuqikr ds leku gksxkA

d) Magnitude of the difference of their circulferences is π
o`Ùkksa dh ifjf/k;ksa ds varj dk ifj.kke π  gSA

0
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70. The side of a parallelogram is 80cm & the length of corresponding attitude is 26cm then its

area equals ?

,d lekUrj prqZHkqt dh ,d Hk qtk 80cm gS rFkk Hk qtk ij Mkys x;s 'kh"kZyEc dh yEckbZ 26 lseh
gS rks lekUrj prqZHk qt dk {ks=Qy D;k gksxk \
a) 2080cm2 b) 1280cm2 c) 2180cm2 d) 2010cm2

71. Which of the following statements is/are not true ?

fuEufyf[kr eas ls dkSu lk dFku lR; ugha gSa \
a) Exlerior angles of a triangle is always less then the sum of opposite interior angles.

f=Hk qt dk cfgLdks.k lnSo lEeq[k% vUr% dks.kksa ds ;ksx ls de gksrk gS A
b) Angle sum property hold in all type of triangles

lHkh izdkj dh f=Hk qtksa eas f=Hk qt ds dks.kksa dk ;ksx xq.k lR;kfir gksrk gSA
c) Sum of the lengths of any two sides of a triangle is always greater then the length of third

side.

f=Hk qt dh fdUgha nks Hk qtkvksa dh yEckbZ dk ;ksx lnSo rhljh Hk qtk dh yEckbZ ls vf/kd gksrk gSA
d) In a right angle triangle square of the length of hypotonuse is equal to sum of the squares

of the lengths of other two sides.

ledks.k f=Hk qt eas fod.kZ dh yEckbZ dk oxZ vU; nks Hkqtkvksa ds oxkZsa ds ;ksx ds leku gksrk gSA
72. If x------>y indicate that elements of column A are matched with the elements of column B.

Read the column A & column B and select the wrong matching.

;fn x----->y iznf'kZr djrk gS fd LrEHk A ds vo;o LrEHk B ds vo;oksa ls feyku [kkrs gSa LrEHk
A vkSj LrEHk B dks i<+rs gq;s xyr tksM+s dks p;fur djsaA
Column A Column B

a) A figure has 6 faces, 8 vertices and 12 edges 1 Cone ('kadq)
,d vkd`fr ds 6 Qyd 8 'kh"kZ rFkk 12 fdukjs gSaA

b) A figure having 3 faces, zero (no) vertex and 2 edges 2 sphere (xksyk)
,d vkd`fr ds 3 Qyd] dksbZ 'kh"kZ ugha vkSj 2 fdukjs gSaA

c) Figure having 1 face, zero(no) vertices and no (zero) edges 3 cuboid (?kukHk)
vkd`fr dk 1 Qyd] 'k qU; 'kh"kZ] 'k qU; fdukjs gSaA

d) A figure having 10 faces, 20 edges and 15 vertices 4 cube  (?ku)

,d vkd`fr ftlds 10 Qyd] 20 fdukjs vkSj 15 'kh"kZ gks

a) (a) ---> 3 and 5 b) (b)---->4                c) (c) ---->2 d) (d)--->6
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73. Which one is not the congruency rule ?

fuEufyf[kr eas ls dkSu lk lokZaxlerk fu;e ugha gSA

a) ASA b) RHS c) AAA d) SAS

dks.k Hk qtk dks.k dks.k dks.k dks.k Hkqtk dks.k Hk qtk

74. Look at the figure and reflect the correct.

fp= ¼vkd`fr½ dks ns[krs gq;s lgh fodYi dks pqusa \

a) x=500 b) 550

c) 650 d) None of these

75. The two complementary angles are in the ratio 7:11, the one fifth of the larger angle will be?

nks dksVh iwjd dks.kksa dh ekiksa dk vuqikr 7:11 gS cM+s dks.k dk 
1

5
oka Hkkx D;k gksxk \

a) 220 b) 70 c) 110 d) None of these

76. The value of 
3

4

7

11
+ −F
HG
I
KJ  equals ?  

3

4

7

11
+ −F
HG
I
KJ  dk D;k eku gksxk \

a) 
5

44
b) 

−44

5
c) 

−5

44
d) 

44

5

77. At x=0, the value of 2x2+x-a equals 5 then 'a' equals ?

a) 5 b) -5 c) -9 d) None of these

x=0 ds fy, O;atd 2x2+x-a dk eku 5 gS rks 'a' dk eku D;k gksxk \

a) 5 b) -5 c) -9 d) bueas ls dksbZ ugha

78. The additive inverse of 7x5+(-7) x(-4) + (-8) x 4 is ?

a) -35 b) -28 c) 32 d) None of these

mijksDr fn;s O;atd dk ;ksT; izfryksHk D;k gksxk \

a) -35 b) -28 c) 32 d) bueas ls dksbZ ugha

79. A water tank can hold 58
3

4
 litres of water. How much water would required to fill 

2

5
 part of

the tank.

,d ikuh ds VSad eas 58
3

4
 yh- ikuh gSA VSad ds 

2

5
 Hkkx Hkjus ds fy, fdruk ikuh pkfg, \

a) 25
1

2
 Lt b) 23

1

2
c) 47 Lt. d) 23Lt.

80. If A:b = 7:8 and B:C = 13:18 then  A:B:C equals

a) 35: 40 : 44 b) 40 : 44  35 c) 44: 40 :35 d) None of these

115
0

x
0

(x+5)
0

>
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SOCIAL SCIENCE

81. Which is a unique planet in the Solar System ?

a) Venus b) Sun c) Earth d) Saturn

lkSj ifjokj eas vuks[kk xzg dkSu lk gS \

a) o:.k b) lw;Z c) i`Foh d) 'kfu

82. How many classical dances are there in India ?

Hkkjr eas fdrus 'kkL=h; u`R; gS \

a) 4 b) 5 c) 3 d) 6

83. Who was the founder of Sikh religion ?

a) Guru Nanak Dev b) Guru Ram Dass c) Guru Hari Das d) Guru Gobind Singh

flD[k /keZ dh LFkkiuk fdlus dh \

a) xq# ukud nso b) xq# jke nkl c) xq# gfj nkl d) xq# xksfoUn flag

84. When did Vasco-D-Gama arrived in India ?

okLdksfMxkek Hkkjr dc iagqpk Fkk \

a) 1496 b) 1498 c) 1598 d) 1596

85. First battle of Panipat was fought in

ikuhir dh igyh yM+kbZ yM+h x;h

a) 1516 b) 1426 c) 1526 d) 1416

86. How many states are there in India

Hkkjr eas fdrus jkT; gSaA

a) 28 b) 25 c) 71 d) 35

87. Who is the head of the Distt. Administration ?

a) D.C. b) S.P. c) A.D.M. d) S.D.M.

ftyk iz'kklu dk eqf[k;k dkSu gksrk gS\

a) Mh-lh- b) ,l-ih- c) ,-Mh-,e- d) ,l-Mh-,e-

88. Who is the speaker of Lok Sabha ?

a) Meera Kumar b) P.A. Sangama c) Hamid Ansari d) Pratibha Patila

yksd lHkk eas Lihdj dkSu gS \

a) ehjk dqekj b) ih-,- laxek c) gkfen valkjh d) izfrHkk ikfVy
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89. How many subjects are there in Union List ?

la?kh; lwph eas fdrus fo"k; gSa \

a) 66 b) 47 c) 97 d) 44

90. Which is consider as 'House of People' ?

a) Lok Sabha b) Rajya Sabha c) Vidhan Sabha d) None of these

gkml vkQ ihiqy fdls ekuk tkrk gS \

a) yksd lHkk b) jkT; lHkk c) fo/kku lHkk d) bueas ls dksbZ ugha

91. During the medieval period in India, temples were regarded as a hub of

a) Cultural activities b) Sufi movement c) Architecture        d) Extensive foreign trade

e/;dkyhu Hkkjr eas eafnjksa dks ------------- ds :i eas tkuk tkrk FkkA

a) lkaLd`frd xfrfof/k;ksa b) lwQh vanksyu c) okLrqdyk        d) cMs+ iSekus ij fons'kh O;kikj

92. The last Nawab of Awadh was

a) Nasiruddin b) Nisiuddaavlah c) Mohammad Ali Shah    d) Wajid Ali Shah

vo/k dk vkf[kjh uokc dkSu Fkk \

a) ulh:}nhu b) fulhnkSyk c) eqgEen vyh 'kkg   d) okftn vyh 'kkg

93. The Tropic of Cancer passes through

a) Maharashtra b) Uttar Pradesh c) Madhya Pradesh d) Goa

ddZ js[kk fuEu eas ls xqtjrh gS

a) egkjk"Vª b) mrj izns'k c) e/; izns'k  d) xksok

94. "Nayanas" are the followers of Lord

a) Vishnu b) Shiva c) Ram d) Narad

u;ukj----------------- ds vuq;k;h Fks

a) fo".kq b) f'kok c) jke  d) ukjn

95. Namdev was a  famous saint of

a) Delhi b) Gujrat c) Maharastra d) Himachal

ukenso izfl) lar dgka ds Fks \

a) fnYyh b) xqtjkr c) egkjk"Vª d) fgekpy
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96. Name the last emperor of Mughal dynasty ?

a) Babar b) Aurangjeb c) Akbar d) Jahangir

vafre eqxy lezkV dk uke crkb;s
a) ckcj b) vkSjaxtsc c) vdcj d) tgkaxhj

97. The example of MAN made environment is

a) Plants b) Animal c) Industries d) Birds

ekuo fufeZr i;kZoj.k dk mnkgj.k gS\
a) isM+ ikS/ks b) i'k q c) m?kksx d) i{kh

98. Where is the highest waterfall in the world

a) Venezuala (North America) b) Japan c) America d) South Aferica

fo'o dk lcls Åapk ty izHkkr dgka gS\
a) osustw,syk ¼mÙkjh vesfjdk½    b) tkiku c) vesfjdk d) nf{k.kh vÝhdk

99. What is the %age, ratio of oxygen in the atmosphere

ok;qe.My eas vkDlhtu dh fdruh izfr'krrk gSA
a) 23% b) 19% c) 25% d) 21%

100. World water day is celebrated on

a) March 31 b) 2 May c) 22 March d) 5 June

fo'o ty fnol euk;k tkrk gS
a) ekpZ 31 b) 2 ebZ c) 22 ekpZ d) 5 twu

101. Kolkata is situated on the bank of the river

a) Ganga b) Ravi c) Hugli d) Kaveri

dydÙkk fdl unh ds fdukjs gSA
a) xaxk b) jkoh c) gqxyh d) dkosjh

102. What is the original name of Noor jahan ?

a) Nourie b) Lourie c) Meharunisha d) Jodha Bai

uwjtgka dk okLrfod uke D;k Fkk \
a) uwjh b) ywjh c) esg:fUulk d) tks/kk ckbZ

103. Moranio is a type of

a) Fish b) Elephent c) Sheep d) Duck

eksfjuks fdldh iztkfr gS
a) eNyh b) gkFkh c) HksM+ d) cr[k
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104. Kimberley is famous for

a) Gold b) Silver c) Pletinium d) Diamond

fdaojys fdlds fy, izfl) gS \

a) lksuk b) pkanh c) IySfVue d) ghjk

105. The special name of any product is known as :

a) Limca b) Brand c) Product d) End product

fdlh mRikn ds fo'ks"k uke dks dgrs gSa

a) fyEdk b) czakM c) mRiknd d) var mRikn

106. How many continents are there in the world ?

lalkj eas fdrus egk}hi gSa \

a) 4 b) 5 c) 6 d) 7

107. Hemis is famous in Laddakh for

a) Temple b) Chruch c) Bodh Math d) Gurudwara

yn~nk[k eas ßgsfelÞ izfl) gS

a) eafnj b) ppZ c) cksn~/k eB d) xq:}kjk

108. Aurangzeb died in :

vkSjaxtsc dh e`R;q dc gqbZ \

a) 1707 b) 1740 c) 1773 d) 1710

109. Kutubminar was completed by :

a) Kutub-ud-deen-Ebak    b) Iltutamish c) Suleman d) Hamid

dqrqcehukj dks iwjk fd;k

a) dqrqc nhu ,sod b) bYrqrfe'k c) lqyseku d) gkfen

110. Firstly 'Hinudstan' word was used for India by

a) Akbar b) Ven Seng c) Amir Khusro d) Minaz-E-Siraz

loZizFke fgUnqLrku 'kCn dk iz;ksx Hkkjr ds fy;s fd;k Fkk \

a) vdcj b) csu lkax c) vkfej [kqljks d) feukt , f'kjkt

111. Supreme Commonder of Army is :

a) President b) Prime Minister c) Home Minister d) G.O.M.

lsuk ds loksZPp lsukifr dkSu gksrk gSA

a) jk"Vªifr b) iz/kkuea=h c) x`g ea=h d) th-vks-,e-
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112. How many legistative Assemblies are there in H.P. ?

fgekpy izns'k eas fdrus fo/kkulHkk {ks= gS

a) 67 b) 68 c) 70 d) 69

113. How many type of rocks are there?

'kSyksa ds fdrus izdkj gSa \

a) 4 b) 3 c) 2 d) 5

114. Who was the Revenue minister of Akbar.

a) Todarmal b) Abul Fajal c) Shanjanha d) Amir Khusro

vdcj ds jktLo ea=h dkSu Fks \

a) VksMjey b) vcqy Qty c) 'kkgtagk d) vkfej [kqljks

115. International Women Day is celebrated on

a) 8 March b) 10 May c) 5 June d) 28 Feb

varjjk"Vªh; efgyk fnol dc euk;k tkrk gS\

a) 8 ekpZ b) 10 ebZ c) 5 twu d) 28 Qjojh

116. What is %age of women in India according to census 2001 ?

2001 dh tula[;k ds vk/kkj ij efgykvksaa dh izfr'krk fdruh Fkh \

a) 45% b) 48% c) 16% d)13%

117. What is most useful gas for living beings

thfor izkf.k;ksa ds fy, lcls vko';d xSl dkSu lh gSA

a) CO
2

b) O
2

c) Na
2

d) None of these

118. Who is the President of India.

a) Hamid Ansari b) Parnav Mukharji c) L.K. Adwani d) Sonia Gandhi

Hkkjr ds jk"Vªifr dkSu gSa \

a) gkfen valkjh b) iz.ko eq[kthZ                 c) ,y-ds-vMok.kh d) lksfu;k xka/kh

119. How many members of B.J.P. were there in (H.P.) after election of 2007 ?

fgekpy izns'k eas 2007 ds pquko ds ckn Hkk-tk-ik- ds fdrus lnL; Fks \

a) 42 b) 23 c) 3 d) 68

120. Which country has longest covered area by Railway in Asia ?

a) India b) China c) Bhutan d) Nepal

,f'k;k ds dkSu ls ns'k eas jsy ekxZ lcls vf/kd gS \

a) Hkkjr b) phu c) HkwVku d) usiky
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SCIENCE

121. Which of the following materials is not required as raw material of photosynthesis process?

a) Temperature b) Light c) Water d) Co
2

izdk'k la'ys"k.k esa fdldk dPps inkFkZ ds :i eas iz;ksx ugha gksrk \

a) rkieku b) izdk'k c) ikuh d) dkcZu MkbvkWDlkbM

122. Which is the largest gland in the body ?

a) Stomach b) Large intestine c) Liver d) None of these

ekuo 'kjhj eas lcls cM+h xzaFkh gS

a) isV b) cM+h vkar c) Fkd`r d) lHkh eas

123. Silk fibres are made of a

a) protein b) Carbohydrates c) Fats d) Minerals

js'ke Qkbcj cus gksrs gSa

a) izksVhu ls b) dkcksZgkbMªV ls c) olk ls d) [kfut yo.kksa ls

124. The range of a laboratory thermometer is generally from

iz;ksx'kkyk rkiekih dk ifjlj gksrk gS

a) -100C to 1000C b) -150C to 1500C c) -100C to 1100C d) -150C to 2000C

125. Which acid is present in ant's sting

a) Acetic acid b) Formic acid c) Citric acid d) Lactic acid

phaVh ds Mad eas vEy gksrk gS

a) ,lhfVd vEy b) QkWfeZd vEy c) lkbfVªd vEy d) ySfDVd vEy

126. The chemical name of baking soda is

a) Sodium carbonate b) Sodium bicarbonate

c) Acetic acid d) Magnesium hydroxide

csfdax lksMk dk jklk;fud uke gS

a) lksfM;e dkcksZusV b) lksfM;e ckbdkcksZusV c) ,slhfVd vEy d) eSxuhf'k;e gkbVªkDlkbM

127. The weather reports are prepared by the

a) Forest department b) Weather department c) Meteorological department  d) None of

these

ekSle dh fjiksVZ rS;kj djrk gS

a) ou foHkkx b) ekSle foHkkx c) ekSle foKku foHkkx     d) bueas ls dksbZ ugha
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128. In American continent, a cyclone is known by name

a) typhoon b) storm c) hurricane d) Cyclone

vesfjdk egk}hi eas pØokr dks dgrs gSa

a) VkbQwu b) rwQku c) gfjdsu d) pØokr

129. Each layer of soil differs in

a) feel b) colour & depth c) chemical composition d) All of these

e`nk dh izR;sd ijr fdl izdkj fHkUu gksrh gS

a) Li'kZ b) jax] xgjkbZ c) jlk;fud la?kVd d) mijksDr lHkh

130. The organism which are used to make wine

a) Virus b) Yeast c) Fungus d) None of these

'kjkc vkSj ch;j cukus eas fdldk iz;ksx gksrk gS

a) fo"kk.kq b) ;hLr c) dod d) bueas ls dksbZ ugha

131. The blood cells which fight against germs in our body are

a) R.B.C. b) W.B.C. c) Platelets d) None of these

dkSu lh jDr dksf'kdk,¡ geas jksxksa ls cpkrh gSa

a) vkj-ch-lh- b) McY;w-ch-lh- c) IysVySV~l d) bueas ls dksbZ ugha

132. The male reproductive part of a flower is

a) Stamen b) Pistil c) Spore d) None of these

iq"i dk uj tuu vax gksrk gS

a) L=hdslj b) ofrZdk c) iqadslj d) buesas ls dksbZ ugha

133. In plants water is transported through

a) xylem b) Phloem c) Stomata d) root hairs

ikniksa eas ty dk ifjogu gksrk gS

a) jU/kzks ds }kjk b) Qyks,e ds }kjk c) jU/kzks ds }kjk d) ewyjkseksa ds }kjk

134. The process of fusion of male and female gametes is called

a) Fertilisation b) Pollination c) Reproduction d) Seed formation

uj vkSj eknk ;qEed ds ;qXeu dk izØe dgykrk gS

a) fu"kspu b) ijkx.k c) tuu d) cht fuekZ.k
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135. A virtual image larger than object can be produced by

a) Concave lens b) Concave mirror c) Convex mirror d) Plane mirror

fcac ls cM+s lkbt dk izfrfcac cuk;k tk ldrk gS
a) vory ySal }kjk b) vory niZ.k }kjk c) mÙky niZ.k }kjk d) lery niZ.k }kjk

136. Heating effect of current can be seen in

a) A watch b) Electric bell c) Heater d) None of these

fo/k qr /kkjk ds rkih; izHkko dk bLrseky gksrk gSA
a) ?kM+h eas b) fo|qr ?kaVh eas c) ghVj eas d) buesa ls dksbZ ugha

137. Which type of lens is present in our eyes.

a) Concave lens b) Convex lens c) both a & b d) None of these

gekjh vk¡[k eas ySal gksrk gS
a) vory b) mÙky c) nksuksa , vkSj ch d) buesa ls dksbZ ugha

138. Which of the following is found in all three forms

rhuksa voLFkkvksa esa ik;k tkrk gSA
a) Co

2
b) Co c) O

2
d) H

2
O

139. Forest is a system comprising ?

a) Plants b) Animals c) Micro organisms d) All of these

ou ,d ra= gS ftleas ik, tkrs gSa
a) ikni b) tarq c) lw{etho d) mijksDr lHkh

140. Which is the world water day ?

a) 22nd May b) 22nd March c) 20th March d) 20th May

fo'o ty fnol dc euk;k tkrk gS \
a) 22 ebZ b) 22 ekpZ c) 20  ekpZ d) 20 ebZ

141. Water holding capacity is highest in

a) Sandy soil b) Clayey soil c) Loamy soil        d) mixture of sand & loam

ty /kkj.k {kerk lcls vf/kd gksrh gS
a) cyqbZ e`nk eas b) e`.e; enk eas c) nqeVh e`nk eas    d) ckyw vkSj nqeV ds feJ.k eas

142. In cockroaches, air enters the body through

a) Lungs b) gills c) spiracles d) Skin

frypêksa ds 'kjhj eas ok;q izos'k djrh gS] muds

a) QsQM+ksa }kjk b) Dykseksa }kjk c) 'okl ja?kzks }kjk d) Ropk }kjk
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143. Which one of the following is not reponsible for water shortage ?

a) Rapid growth of industries b) Increasing population

c) Heavy rainfall d) Management of water resources

fuEufyf[kr eas ls dkSu lk ty dh deh ds fy, mÙkjnk;h ugha gS \
a) vkS/kksxhdj.k eas o`f) b) c<+rh tula[;k          c) vR;f/kd o"kkZ        d) ty lalk/kuksa dk dqizac/ku

144. Which of the following is not forest product ?

a) Gum b) Plywood c) Sealing wax d) Kerosene

fuEufyf[kr eas ls dkSu lk ou mRikn ugha gS \
a) xkasn b) IykbZoqM c) lhy djus dh yk[k d) dSjkslhu

145. Magnesium oxide + ................ ----> Magnesium hydroxide

a) Sulphurous acid b) Hydrochloric acid c) Nitric acid d) Water

eSXuhf'k;e vkDlkbM $--------- ----> eSXuhf'k;e gkbMªksDlkbM
a) lYQ;wjl vEy b) gkbZMªksDyksfjd vEy c) ukbfVªd vEy d) ty

146. Fat is completely digested in the

a) stomach b) mouth c) small intestine d) Large intestine

olk dk iw.kZ:is.k ikpu ftl vax eas gksrk gS] og gS
a) vek'k; b) eq[k c) {k qnzka= d) c`gnka=

147. An iron ball at 400C is dropped in  a mug containing water at 400C. The heat will

a) flow from iron ball to water                     b) flow from water to iron ball

c) not flow from iron ball to water or water to iron ball      d) increase temperature of both.

400C rki dh yksgs dh fdlh xksyh dks dVksjh eas Hkjs 400C rki ds ty eas Mqck;k x;kA bl izfØ;k
eas Å"ek
a) yksgs dh xksyh ls ty dh vksj LFkkukf=r gksxh
b) ty ls yksgs dh xksyh dh vksj LFkkukarfjr gksxh
c) u rks yksgs dh xksyh ty dh vksj vkSj u gh ty ls yksgs dh xksyh dh vksj LFkkukarfjr gksxh
d) nksuksa ds rki eas o`f) dj nsxhA

148. White light is composed of how many colours    'osr izdk'k fdrus o.ksZsa dk feJ.k gS
a) 6 b) 7 c) 5 d) 4

149. Convert 72 km/h into m/s

72 km/h dks m/s eas cnfy,

a) 20 m/s b) 40 m/s c) 30 m/s d) 50 m/s



VII - 26

150. Eyes are reproductive part of

a) Potato b) Rose c) Cacti d) None of these

vk¡[ks tuu vax gksrh gS

a) vkyw eas b) xqykc eas c) ddM+h eas d) bueas ls dksbZ ugha

151. Carbohyrates are made up of

a) Carbon b) hydrogen c) oxygen d) All of these

dkckZsgkbMªsVl cus gksrs gSa

a) dkcZu ls b) gkbZMªkstu ls c) vkDlhtu ls d) mijksDr lHkh

152. The breakdown of complex component of food into simpler substance is called

a) Ingestion b) digestion c) Nutrition d) None of these

tfVy [kk| inkFkksZa dk ljy inkFkksZa eas ifjofrZr gksuk dgykrk gS

a) varxzZg.k b) ikpu c) iks"k.k d) bueas ls dksbZ ugha

153. David is observing his image in a plane mirror. The distance between the mirror and his

image is 4m. If he moves 1m towards the mirror then distance between David and his image

will be.

MsfoM vius izfrfcac dks lery niZ.k eas ns[k jgk gSA niZ.k rFkk mlds izfrfcac ds chp dh nwjh 4m

gS ;fn og niZ.k dh vksj 1m pyrk gS] rks MsfoM rFkk mld izfrfcac dh nwjh gksxhA

a) 3m b) 5m c) 6m d) 8m

154. Burning of coal is an example of

a) Physical change b) Chemical change c) reversible change d) None of these

dks;ys dk tyuk dSlk ifjoZru gS

a) HkkSfrd b) jlk;fud c) mRØe.kh; d) bueas ls dksbZ ugha

155. Which part of India receives very little rainfall ?

a) Haryana b) Assam c) Rajasthan d) Maharashtra

Hkkjr eas lcls de o"kkZ dgka gksrh gS \

a) gfj;k.kk b) vle c) jktLFkku d) egkjk"Vª

156. Which of the following does not yield wool

a) Yak b) Camel c) Goat d) Wolly dog

fuEufyf[kr eas ls fdlls Åu izkIr ugha gksrh

a) ;kd b) Å¡V c) cdjh d) ?kus ckyksa okyk dqÙkk
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157. The process of providing an artificial kidney is called

a) Dialysis b) Pacemaker c) Both a & b d) None of these

o`Dd [kjkc gksus ij fd;k tkrk gS

a) Mk;kykbfll b) LFkkaukrj.k c) nksuksa a vksj b d) dksbZ Hkh ugha

158. Distance covered by an object in a unit time is called

a) Displacement b) Speed c) Velocity d) Force

,dkad le; eas r; dh xbZ nwjh dks dgrs gSa

a) foLFkkiu b) pky c) xfr d) cy

159. Who invented electric bulb ?

a) Henry ford b) Faraday c) Graham Bell d) Thomas Alva Edison

fo|qr cYc dh [kkst fdlus dh

a) gsujh QksMZ b) QSjkMs c) xzkge cSy d) FkkWel vYok ,Mhlu

160. Study the following statements about ozone

a) It is essential for breathing

b) it is used to disinfect water

c) It absorbs ultraviolet rays

d) Its proportion is about 3% which of these statements is correct

a) i, ii, iii b) ii, iii c) i, iv d) all of these

vkstksu ds ckjs eas fuEufyf[kr oDrO;ksa dks /;kuiwoZd if<+,

a) ;g ltho thoksa dks 'olu ds fy, vfuok;Z gS

b) bldk mi;ksx ty dks jksxk.k q jfgr cukus ds fy, fd;k tkrk gS

c) ;g iSjkcSaxuh fdj.kksa dks vo'kkssf"kr dj ysrk gS

d) ok;q eas bldk vuqikr yxHkx 3% gS

i) i, ii, iii ii) ii, iii iii) i, iv iv) lHkh pkj
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ENGLISH

Read the passage given below and answer the questions that follow :

This is a great lesson for all of us to learn, that in all matters the two extremes are alike.

The extreme positive and the extreme negative are always similar. When the vibrations

of light are too slow we do not see them, nor do we see them when they are too rapid.

So with sound, when very low in pitch we do not hear it, when very high we do not hear

it either of like nature is the difference between resistance and non resistance. One man

does not resist because he is weak, lazy and cannot, not because he will not, the other

man knows that he can strike an irresitible blow if he likes, yet he not only does not

strike, but blesses his enemies. The one who from weakness resists not commits a sin,

and as such cannot receive any benefit from the non-resistance, while the other would

commit a sin by affering resistance.

161. Explain "................... in all matters the two extremes are alike".

a) Powerful men always gain success.

b) The charateristics of all human beings are same.

c) Boys and girls are equally talented.

d) The extreme positive and the extreme negative are alike.

162. When the sound is very high in pitch we

a) hear it easily b) fail to hear it

c) fail to think anymore d) feel dizziness

163. When the vibrations of light are too rapid we

a) fail to see them b) see them easily c) sweat d) None of the above

164. What differentiates a man who resists from a man who does not resist ?

a) His nature b) His laziness c) His weakness d) His strength

165. The word irresistible means -

a) tied so closely that it cannot be separated

b) so valuable that it cannot be replaced

c) so strong that it cannot be stopped

d) that cannot be changed back to its original form
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For questions 166 and 167, choose the correct article.

166. I praised ............... boy who helped me.

a) a b) an c) The d) None of these

167. He is .......... M.L.A. of our locality.

a) a b) an c) the d) None of these

For questions 168 and 169, choose the correct collective noun.

168. A collection of rooms is called

a) crew b) troups c) herd d) suite

169. A collection of bees is called :

a) flock b) mob c) swarm d) fleet

For questions 10 and 11, choose the suitable relative pronoun.

170. The story .................. I wrote was published

a) whose   b) which c) who d) whom

171. The boy.............. has brown eyes is my cousin

a) that b) which c) who d) whom

For questions 172 and 173, choose the suitable verb.

172. The hungry child............ for ten minutes.

a) cry b) cried c) crying d) has been crying

173. The planets ................ around the sun.

a) revolves b) revolved c) revolve d) revolving

For questions 174 and 175, tick which is a correct passive voice for the following :

174 Can he solve this problem ?

a) Could this problem be solved by him ?

b) Can this problem be solved by him ?

c) This problem can be solved by him ?

d) This problem could be solved by him ?

175. Ramu Kaka never waters the plants.

a. The plants never are watered by Ramu Kaka.

b. Ramu Kaka never watered the plants.

c. The plants are never watered by Ramu Kaka.

d. The plants are watered never by Ramu Kaka.
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fgUnh

fuEufyf[kr x|ka'k ds vk/kkj ij iz'uksa ds mfpr fodYi pqudj fyf[k,%
euq"; dk thou lalkj ds NksVs cM+s izkf.k;ksa vkSj inkFkksZa eas Js"B ekuk x;k gSA og
blfy, fd euq"; cM+k cqf}eku vkSj dYiuk'khy izk.kh gSA vius fopkjksa ds cy ij gh
og tks pkgs dj ldrk gS vkSj cgqr Å¡pk mB ldrk gSA fopkj lkns] lPps vkSj ifo=
gksus ds lkFk lkFk euq"; ds O;kogkfjd thou ls lac/k j[kus okys gksus pkfg,A bUgha
ckrksa dks vk/kkj cukdj lknk thou] mPp fopkj dks ekuo thou dh lQyrk dh
lh<+h ekuk x;k gSA lknxh euq"; ds igukos ls ugha cfYd mlds izR;sd gko] Hkko]
fopkj rFkk thou ds <ax ls irk yxuh pkfg,A ;gh okLrfod lknxh gS tks fopkjksa
dks mPp cukdj lc izdkj dh mUufr vkSj fodkl dk dkj.k curh gSA lalkj dk
bfrgkl bl ckr dk xokg gS fd vkjaHk ls gh lknxh ilan O;fDr gh turk dks mPp
fopkj nsdj mUufr vkSj fodkl dh jkg iz'Lr djrs vk jgs gSaA egkRek cq}] lar dchj]
xq: ukud] egkRek xk¡/kh] Mk- jk/kkd`".ku] fouksck Hkkos vkfn bl rF; ds izR;{k izek.k
gSaA

176 x|ka'k ds fy, mi;qDr 'kh"kZd gSA
d½ yack thou] dBksj fopkj [k½ NksVk thou] NksVs fopkj
x½ lknk thou] mPp fopkj ?k½ lknk thou

177 euq"; dk thou Js"B D;ksa ekuk tkrk gS \
d½  og lQy gS [k½ og cqf}eku vkSj dYiuk'khy gS
x½ og ifjJeh vkSj dBksj gS ?k½ og xn~nkj vkSj >wBk gS

178 mUufr djus ds fy, euq"; ds fopkj dSls gksus pkfg,\
d½ >wBs] Å¡ps vkSj vifo= [k½ [kks[kys vkSj cscqfu;kn
x½ eksg ek;k ls ;qDr rqPN fopkj ?k½ lPps] lkns vkSj ifo= gksus ds lkFk

   lkFk O;kogkfjd thou ls lacf/kr

179 okLrfod lknxh D;k gS\
d½ oSpkfjd vkSj O;kogkfjd [k½ euq"; ds igukos dk <ax
x½ euq"; dk fn[kkok ?k½ buesa ls dksbZ ugha

180 bueas ls dkSu Hkkjr ds jk"Vªifr jg pqds Fks\
d½ egkRek xk¡/kh [k½ egkRek cq)
x½ MkW- jk/kkd`".ku ?k½ fouksok Hkkos
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181 ^mUufr* 'kCn dk mfpr foykse 'kCn gS
d½ inksUufr [k½ ln~xfr
x½ voufr ?k½ izksUufr

182 o.kZ&foPNsn ds fy, mfpr 'kCn pqfu,
i~$j~$v$r~$;~$,$d~$v

d½ ijR;sd [k½ izR;sd x½ ijrsd ?k½ izrsd

183 eq>s dqN [kkus dks nks A js[kkafdr 'kCn dkSu lk loZuke gS
d½ fu'p;okpd [k½ vfu'p;okpd x½ futokpd ?k½ lac/kokpd

184 deZ ds vk/kkj ij fØ;k ds fdrus Hksn gksrs gSa \
d½ nks [k½ rhu x½ pkj ?k½ ikap

185 tc fØ;k dk chrs le; eas gksuk ik;k tk, rks mls ------------- dgrs gSaA
d½ orZeku dky [k½ Hkwrdky x½ Hkfo";r~ dky ?k½ lafnX/k orZeku dky

186 L=hfyax lwpd 'kCn pqudj fyf[k,A
uk;d
d½ uk;dk [k½ ukf;dk x½ ukf;dh ?k½ bueas ls dksbZ ugha

187 ^okD;ka'kksa ds fy, fn, x, ,d 'kCn* lgh fodYi dks pqfu,
tkuus dh bPNk j[kus okyk
d½ bPNkyq [k½ ftKklq x½ ckrwuh ?k½ naHkh

188 ^Lo$v/khu* ds fy, mfpr laf/k pqfu,
d½ Lok/khu [k½ lok/khu x½ Lo/khu ?k½ Lov/khu

189 ^izR;qÙkj* eas dkSu lk milxZ iz;qDr gS\
d½ iz [k½ izR; x½ izfr ?k½ izR;q

190 ^ekuork* eas dkSu lk izR;; iz;qDr gSA

d½ ork [k½ rk x½ uork ?k½ vrk
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laLd`r

191 fgrksins'k dk lfU/k foPNsn

d½ fgrks$ins'k% [k½ fgr$mins'k% x½ fgrq$mins'k ?k½ fgrqi$ns'k%

192 ^o/kw$mRlo%* dh mfpr lfU/k\

d½  o/kwRlo% [k½ o/kksRlo% x½ o/kqRlo% ?k½ o/oksRlo%

193 ^Hkfxuh* dk mfpr vFkZ gS%

d½ HkkHkh [k½ ekeh x½ cgu ?k½ eklh

194 ^Li/kkZ* dk mfpr vFkZ ugha gS

d½ eqdkcyk [k½ izfr;ksfxrk x½ gksM+ ?k½ ;q)

195 laLd`r eas fdrus fyaxks dk iz;ksx gksrk gS\

d½ 4 [k½ 2 x½ 3 ?k½ 1

196 ^vj.;s* dk i;kZ;okph ugha gS

d½ ous [k½ vuUrs x½ dkuus ?k½ fofius

197 ^mifj%* dk foykse 'kCn

d½ v/k% [k½ vUr% x½ vkdk'ks ?k½ fueZy%

198 gksfydk ------------- mRlo% vfLrA mfpr 'kCn ls okD; iwjk djsaA

d½ /kS;ZL; [k½ LusgL; x½ }S"kL; ?k½ fe=L;

199 ^ckfydk* 'kCn dk lIreh foHkfDr dk ^,dopu* :i gSA

d½ ckfydke~ [k½ ckfydkuke~ x½ ckfydk;k% ?k½ ckfydk;ke~

200 ^Hkkjro"kZ dfr _ro% HkofUr*\

d½ i´p [k½ lIr x½ "kV~ ?k½ }kn'k


